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Note : (i) Attempt any five questions. 

 (ii) All questions carry equal marks. 

 (iii) Answer each question in not more 

than 500 words. 

1. What is understood by patriarchy ? Does 

patriarchy lead to gender-based 

discrimination ? Explain with examples. 20 

2. Write an essay on feminist perspective on 

marriage.    20 
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3. What are reproductive rights ? Explain the 

issues related to reproductive rights and 

surrogacy in India. 20 

4. Discuss representation of women in media 

and literature through suitable examples. 20 

5. What is meant by gender discrimination ? 

Discuss measures adopted by the 

Government to promote gender equality in 

India.   20 

6. Define disability. Discuss the issues related 

to disability and gender in India. 20 

7. Examine the concept of sexual harassment 

at the workplace. How can it be addressed ?  

20  

8. Write short notes on any four of the 

following :  4×5=20 

(a) Decent work 

(b) Human Right-based approach  

(c) Sex and gender 

(d) Women’s empowerment 

(e) Well-being 

 

 



 [ 3 ] BGSE–001 

D–3081/BGSE–001 P. T. O. 

 BGSE–001 

Lukrd mikf/k dk;ZØe (ch- Mh- ih-) 

l=kar ijh{kk  

twu] 2025 

ch-th-,l-bZ-&001 % tsaMj laosnhdj.k % lekt] 

laLÏfr ,oa ifjorZu 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) fdUgha ik¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA 

 (iii) izR;sd iz'u dk mÙkj vf/kdre 500 'kCnksa esa 

nhft,A 

 

1- fir`ra= ls vki D;k le>rs gSa \ D;k fir`ra= ls efgykvksa 

ds izfr HksnHkko iuirk gS \ mnkgj.k nsrs gq, Li"V 

dhft,A   20 

2- fookg&vk/kkfjr ukjhoknh n`f"Vdks.k ij fuca/k fyf[k,A 20 

3- tuu vf/kdkj D;k gSa \ Hkkjr esa tuu vf/kdkj vkSj 

lsjksxslh ls tqM+s eqíksa dk o.kZu dhft,A 20 
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4- ehfM;k vkSj lkfgR; ds {ks= esa efgykvksa dh Nfo dh 

ppkZ] mfpr mnkgj.k nsrs gq, dhft,A 20 

5- efgykvksa ls HksnHkko ls D;k vk'k; gS \ Hkkjr esa 

L=h&iq#"k cjkcjh dh Hkkouk dks mUur djus esa ljdkj 

}kjk vaxhÏr mik;ksa dh ppkZ dhft,A 20 

6- v{kerk dh ifjHkk"kk nhft,A Hkkjr esa v{kerk vkSj tsaMj 

lEcU/kh eqíksa dh ppkZ dhft,A 20 

7- dk;ZLFky ij ;kSu mRihM+u dh ladYiuk dk o.kZu dhft,A 

bl eqís dk fuokj.k dSls fd;k tk ldrk gS \ 20 

8- fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡  

fyf[k, %   5×4=20 

(d) lH; dk;Z 

([k) ekuokf/kdkj vk/kkfjr n`f"Vdks.k 

(x) fyax vkSj tsaMj 

(?k) efgyk l'kfDrdj.k 

(³) [kq'kgkyh 

× × × × × 

 

 


